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Suppese you have one rabbit.

Now suppose someane gives you one more rabbit.
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Now, if you count your rabbits, you bave two rabbits. So one rabbit plus one rabbit
‘equals two rabbits. So one plus one equals two.

141=2
And that is how arithmetic is done.

Now that you understand the hasic idea behind arithmetic, lot's take
alook at a simple easy d example that puts into practice
what we just loarned.
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Every STEM class...




Quz 5.
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Quz 5.
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Problem 2. (8 Points) Let R be a rectangle with length a and side b, so that § = %. Let d be the
length of the diagonal. If d increases at the rate of 2cm/s, what’s the rate that the area A of R
grows when d = 5cm?
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Problem 2. (8 Points) Let R be a rectangle with length a and side b, so that § = %. Let d be the
length of the diagonal. If d increases at the rate of 2cm/s, what’s the rate that the area A of R
grows when d = 5cm?
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Dptimizotion Foblem.

43. (a) If C(x) is the cost of producing x units of a commodity,
then the average cost per unit is ¢(x) = C(x)/x. Show
that if the average cost is a minimum, then the marginal — Cx).

cost equals the average cost. iy =0
(b) If C(x) = 16,000 + 200x + 4x*2, in dollars, find (oY - g
(1) the cost, average cost, and marginal cost at a pro- ( * ) B
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duction level of 1000 units; (i1) the production level
that will minimize the average cost; and (iii) the mini-
mum average cost.
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Anti-decivative.  Flo =5, then F is the onti-derivative,

Find +£: ) £e)= §in O+cos 6, Po¥=3, Fo=45 2 Pity= 155, F4)=10.
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